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1. Copy and complete :- (For example, 3 x 1= 3).
a 3Ix2=.. b 3Ix3=.. ¢ 3x4=...
d 3xb=... & 3x6=.. f 3x7-=..
g 3x8-=.. h 3x9=.. i 3x10=i.

2. Write out'and learn the “three times table” by heart.
Say to yourself, 3 x 1=3, 3 x 2=6, 3x 3:=9 I x4=12,...
Practise it with someone at home.

(Remember to keep practising your "2 times table” as well).
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B3 What numbers are missing ? -

:’” a 3x..=9 b 3x..:-18 c 3x..z21

: d 3x..:=15 e 3x..=24 f 3x..=30

’J = h 3 . =12 i 3x..=0
3x..=27 Ky s = 0,
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P4 a Atteatime each of the Reid family get 3 potatoes.

:/ If there are ® people in the fami ly,

é ~ how many potatoes are used ?

> |9 mil

= b Inasponsored cycle event 3 boys each travel 9 miles.

What is the total number of miles ?

7 songs are downloaded by 3 girls.

How many songs do they have altogether ?

@ .t Book la - Chapter 12 this is page 109 Whole Numbers 6

Mild Task 1 - Answers will be posted at 3pm. You can self-check question 2.
Remember to write out the calculation.




Exercise 5

1. Copy each of these and complete :-
a 9+:3=.. b.6+3=.. c 15+3=..
d 12:3=.. e 18+3z.. . f 24:3=..

g 21+3=.. " h 27+3=.. i 30+3=...

N

Find the missing numbers :-

A A A A AR AR R AR R R R R R R NEZR}
o JE !

Do these questions mentally.

a 6 allergy pills were shared equally 'be‘_rweeh.B gardenér's. %

How many pills did each gardener ge’r ?

b Dad ate the fish, but the 27 chlps wen‘r to the 3 children.

If they got the same amount, how many did each ge‘r ?

¢ A farmer put 18 scarecrows into 3 fields. "
Each field had the same number of scarecrows.

How many were in each field ?

I put 3 fruit sticks on to each melon.

Tf T have 12 fruit sticks, how many melons will I need ?

e A menu gives a choice of 30 items of food.
There are an equal number of starters, mains and desserts.

How many of each are there ?

) CfE Book 1a - Chapter 14 this is page 127 e Whole Numbers 7 y x
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Mild Task 2 - Answers will be posted at 3pm. You can use cubes, Lego eftc. to
share out and check your answers. Remember to write out the calculation.




29. | 1. (No calculators) Write down the answer to :-

(@8x5 (B)8x3 ()8x6 (d)B8x9
(e) 7x 8 (e s B () & % (h)8x8.

2. A Viking Boat has
- 8 people rowing in it.

How many rowers are there in o
(a) 6-boats - Cb)© boats (c) 7 boats Cd) 10 boats ?

What n’umbebs have been covered by
Jock’s blo‘ts Ao Sl
(a) 8 x@ 40

(b 8 x- 64 '
(O@x 8 =

4. Learn your 8 times table till you know it well.
(Practice on a parent, friend or relative)

Hot Task 1 - Answers will be posted at 3pm. Remember to write out the
calculation and write the unit of measure or appropriate sign with your
answer. Have funl!
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30.] 1. Copy these into your jotters and do them :-
(no calculators)

Q). 36 (b) 47 © 25 (D

x 8 x 8 x 8 x8.
e 17 (f) 60 @ 72 () '~ 93
X 8 ' x 8 x 8 x 8

2. Mrs Jones has 8 chﬂdren. '

Nougat Bar
53 g

She buys 8 of eachwo’r"uthe above (one for each chlld).
What is the total welght of .-

(a) The packets of nuts (b) The packets of crisps 7 |
+ () All of the items put together ?

3. Jock is getting annoying. He’s messed
up again. Find the missing numbers :-—

0B 0@ oS

X ——t D,
288 ' .. -_448 - 202

Hot Task 2 - Answers will be posted at 3pm. Remember to write out the
calculation and write the unit of measure or appropriate sign with your
answer. Watch out - one of the questions requires more than one calculation.
Have fun!




